733C

moshaveranetahsili.ir

A 733 E

1Fee Jlom JB10 &gl wi gl ol 5 500 390 (59958 (3903 T

|
7

’ ‘ o(_.:u,.fa\:n t§La! il .35.& C}La] alF e JS’I)O

A2 {oy) oo olal
Al

olpl ol o3t
Ea3bd g i agle ol

A5 eyl B slajle

‘ (1YO) &) g 31 (ouinige I

A0 YV i ¥ il Gos

Gl 33k g oluar o Jloaiol Slge lgie

A Sl slosd

R IR I R [ e R [ el R R R R R R RA R R

et U | ayloa 31 | o oliay elomiiol olax iyl y
. 3 gy [t ot g cogae ol !
" YN -] P PR TICRUR, I Py PSP S
£a \ b gt honalnis 1ot e BT Fo ) o :; v
| PRES I R Y
5. 5 % (Tal) oo o5 gl sl Y
i F b T lemes gl i g (T 1) Ky oY ¥
4 ve 1 Y o5 5 s a3 (T3] 0 S clagnile |
15 2 ¥ U g T ?
LhFd Wi W i ol g 51 A
T A 1y Y P Sdiie awdign o glenase 4
el bl g g el 3 S0 SR S peodi Wil y obdogle ol =
i Sl Dl fele 31 salizal Byl e b yni fyge 3l ol

R R R R R R R R R e R R R RA KA R R R

gt gl ity e g b U g A2, o e el i yaten b LS, Bt g oA ol aled ol ciyme 3T 5155 0 g omt (o P ) 5 gt 0 Wi Ly g5 gl v

moshaveranetahsili.ir



moshaveranetahsili.ir
Y aodec 133C (YD) U = 5 mihieo

R C’S-BJT dndze 30 Losls yguiren pac A eds b Jader Giler joio jo Lasl g Glasln &8 pae (ol 5 cdbigls e

g 05 ohaiun Bylosd oarerlackly «Jol8 alET 1§ wovorciianiennsin csalbglo B bl s idloni!
JG Jf.d-' a8 3 EBJ ¢u5’!5.w d-"‘rj.é‘b 9 Mh@uh ‘SYLI d-w.L"b' 4 894 u)]-'l- 6'}".' J E_'J.Ju.n t_fn.ch].B aJLc.u.r Lf
mledgo anlh 1y plaoligunly oily 3 V1gw da i85 g9y p0ad

HgmertSil) (il 5 ogas

PART A: Vocabulary

Dircctions: Choosc the word or phrase (1), (2), (3), or (4} that hest completes cach scentence,
Then mark the correct choice on your answer sheet.

- I-——- the argument because I didn’t know enough about the subject.
1) depicied 2) conlronicd 3) dropped 4) broached

2-  Because my hushand is a ————----- supporter of the high school foothall team, he donates
moncy (o their organization cvery year,
1) zealous 2) anomalous 3) receptive 4) successive

3-  Since the journey iy -—---—---- , be sure to bring a first-aid kit.
1) courageous 2) cautious 3) cnormous 4] perilous

4-  The writer's stories appeal to a wide range of people—young and old, --—--—--- and poor,
literary and nonliterary,
[} economical 2) financial 3) affluent 4) elite

5~ Ilis nostalgic ---—----- of growing up in a small city are comical, though they are perhaps
embellished for comic effect.
1) impacts 2] accounts 3) entertainments 4) bibliographies

6-  On a chilly night, vou might like to curl up by the fircside and ----—--—-- a cup of hot
chocolate while reading one of Thurber’s books.
1) imbibe 2) amalgamaic 3 relieve 4) lascinale

7-  Although Mr. Jackson was -----——-—- , he attempted to be jovial so that his colleagues at
the meeting wouldn’t think there was a problem,
1) unpretentious 2) painstaking 3) apprehensive 4) attentive

8-  Obviously the network is overreacting and engaging in ------—-- when they say “55
million pcople are in danger!” for normal thunderstorms.
1) distinction 2) exaggeration 3) expectation 4} justification

9- My high school biology teacher loved (0 ---—--mm-- from seicnee into personal ancedotes
about his college adventures.
1) evolved 2) converled 3) reversed 4) digressed

1(- Landing a planc on an aircraft carrier requires a great deal of —————--—- , 4% ¥ou can crash
if you miss the landing zon¢ by ¢ven a little bit,
[} precision 2) innovation 3) superiority 4) variability
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PART B: Cloze Test

Directions: Read the fellowing passage and decide which choice (1), (2), (3), or (4) best fits each

space. Then mark the correct choice on your answer sheet.

For some time now, medical scientists have noted an alarming increase in diseases of
the heart and circulation among people who smoke cigarettes. {11) ---------- in the
bloodstream causes blood vessels to contract. thus {12) -—m-amm-m- circulation, which
eventually leads to hardening of the arteries. (13) ---------- the arteries stffen, less
bloed reaches the brain. and the cnd resull of this slowdown is a cercbral hemorrhage,
commonly (14) ----—m---- Lo as a “stroke”. In addition, (15) --—m-mmm-- rcduces the ability
of the hemoglobin to release oxygen, resulting in shortness of breath.

11- 1) I'he presence of tobacco is found
2) The presence ot tobacco it is found
3) To be found the prescnec of tobacco
4y 1t has been Tound that the presence ol tobaceo

12- 1) slows 2} to slow 3) slowing 43 it slows
13- 1)So 2) As 3) Afterwards 4) Due to
14- 1) referred 2)that referred 3) referring 4) it is referred
15- 1) bloodstream’s tobacco 2) the tebaceo in bleodstream it
3) tobacco in the bloodstream which 4) 1obacco in the bloodstream

PART C: Reading Comprchension

Directions: Kead the following three passapes and answer the guestions by choosing the
best choice (1), (2), (3), or (4). Then mark the correct choice on your answer sheef,

PASSAGE 1.

A photovoltaic panel used as an energy source 13 very capricicus, because the power of the
electric current obtained from the panel will depend on the intensity of the incident light.
Additionally, the load current also remains an important factor. Users of this energy source
in most ¢ascs arc notl able Lo obtain conslant lighting or a constant load. Usually, the pancls
arc (ixed in one spol and they are rarcly placed on revolving supports that [ollow the sun, As
a result, sunlight falls on the panel surface at difterent angles. In addition, the sun can be
obscured by clouds. The load 1s not constant, but it nsually varies according to the needs of
the users. Under such conditions, the voltage on the panel terminals will also undergo
signiflicant changes.

Usually, users ol the power network expect stable vollage, as (hey do not want 1o worry
aboul ils Quctuations. Il [or example, it is 12 V DC. then changes are expecied o be rather
small, 2-3% of the nominal value at the most. Freely available energy sources are rarely
capable of providing such power supply conditions. 'Therefore. properly constructed voltage
converters are used as the intermediary between these sources and the user,

Unlike "standard" DC/DC converters for power supply - and depending on the target
application - converlers working with renewable encrgy sources must olier the right
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16-

17-

18-

19-

20-

parameters to match the "caprices" of the source. The most important of these are a wide
range of input voltages, suitable input resistance and high breakthrough voltage between
mput and cutput, usually at least several hundred volts.

The demand lor "green energy™ has resulled in devices and products designed [or ity
acquisition being producced by many compeling companics, An average user of a pancl will
be interested mainly in ready-made plug & play modules attached o the pancls. but, on the
other hand, electronic engineers mayv be searching tor converter modules designed to be
integrated info uset's own devices. 'The target applications may include illuminated traffic
signs, monitoring devices or systems operating within lo'l’ networks.

What does the passage mainly discuss?

1) Stable voltage 2) (reen energy

3) Photovoltaic panels 4) Capriclous energy sources

According to paragraph 1, which of the following does NOT affeet the reliability of the
energy provided by a photovoltaic panel?

1) Pancl height 2) Light intcnsity

3) Load current 4} Weather conditions

The word “intcrmediary” in paragraph 2 is closet in meaning to --—--—--—-—-,

1) intruder 2) mediator 3) interrogator 4) seeker

It can be inferred from the passage that standard DC/DC converters are ----------—--- z

1) not popular among users

2) used with capricious cnergy sources

3) made to ofter a4 wide range of input voltage

4) not normally used with renewable energy sources

Why docs the author mention “monitoring devices” in paragraph 47
1) To compare them with traffic signs

2) To arguc that they should vse green energy

3) To discuss how they are connceeted Lo [oT networks

4) To give an example of the uses of photovoltaic panels

PASSAGE 2:

Most sources ol Hlumination gencrate light over an appreciable period, and indeed i
an object is lit for a very briet time (less than 1,25 second), the human eve will not
react in time to see the object. A photographic emulsion---that is, a light-sensitive
coating on photographie film. paper, or glass---will, however. record much shorter
bursts of light. A photographic flash can therefore be used to capture high-speed
movement on film as well as to correct deficiencies of the normal surrounding
lighting. Photoflash is now generaled clecironically, but the carlicst form, [irst used in
1864, was a paper bag containing magnesium wire and some oxyvgen-rich substance,
such as potassium chlorate. When the bag was ignited. the metal burned with an
intense flash. A contemporary observer reported that "this quite unsafe device seems to
have done nothing worse than engulf the room in dense smoke and lead to pictures of
dubious quality and odd poscs.™

The cvolution ol the photoflash was slow, [Tashbulbs, containing fine wire madc of
a melal, such as magnesium or aluminum, capable of being ignited in an atmosphere ol
pure oxvgen al low pressure, were inlroduced only in the 1920'. In the earliest ivpe,
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21-

22-

23-

24-

the metal was separated from the oxygen by a thin glass bulb. The flash was fired by
piercing the bulb and allowing the oxygen to come into contact with the metal. which
ignited spontaneously. |.ater bulbs were fired by an electric battery, which heated the
wire by passing a small current through il. Other combinations, such as the pairing ol
oxygen difluoride with zirconium, have also been uscd. In cach casce cnough cncrgy is
given oul 1o heal the oxidizable metal momentarily to a white-hot cmission ol visible
light. The smoke particles are so small that they cool rapidly; but since they are white,
they contribute to the brilliance by reflecting the light from their still-glowing
neighbors. A slightly bigger form of the metal will burn for a longer time.

According to paragraph 1, if an ohject is Lit for shorter than 1,25 second, it --—--—--—--,

1) cannot be recorded on [ilm

2) is not visible by the naked cye

3) is still considered an appreciable object 1o react Lo
4) cannot be considered a source of illumination

All of the following were used in the carliest form of the photoflash EXCEPT ——-—r—- ¥
1) paper 2) aluminum 3) magnesium 4) potassium chlorate
The word *it” in paragraph 2 refers to --—--—---—--—-,

1) wire 2) current 3) batlery 4) bulb

According to paragraph 2, what was the function of the smoke particles in the photoflash?
1) Fast cooling 2) Hot emission

3) Color reproduction 4) Bright illumination

Which of the following is defined in the passage?

1) Magnesium wire (paragraph 1) 2) High-speed moveincent {paragraph 1)

3) Photographic emulsion (paragraph 1)  4) Electric battery (paragraph 2)
PASSAGE 3:

For millennia. people have harnessed the power of the wind o accomplish tasks. For
gxample, merchants once relied on the wind 1o sail the world. Also., old windmills.
once used to mill cereals, are an iconic part of Holland's landscape. With our lives
centered around electricity. modern scientists have found innovative ways to convert
the kinetic energy trom the wind into electric power,

Today, around the world. the wind-cleetric turbine i1s becoming as iconic as the
Dutch windmill. A wind turbine typically consists ol a large, three-bladed propeller.,
called a rotor, atop a tower that's high enough that nothing blocks it from the wind.
‘The turbine has a drive train similar to a car's engine that includes an electric
generator. The electricity generated gets added to the electric grid, which powers
hundreds of homes and businesses in a geographic location.

One small wind wrbine can power a single home or small business. These smaller
versions have rolors between 8 and 25 (eet (2.4 and 7.6 melers) in diameler and can
stand up to 30 feet (9.1 meters) in the air, Wind farms are becoming increasingly
conunon in large open spaces. You can see some ot these tarms during a drive or tlight
through the country, with thousands of giant white wind turbines stretching across
hillsides as far as the eye can see.
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26- The author mentions merchants relying on the wind to sail the world as an example of
1) how the power of the wind was used in the past
2) how difficult it was to perform certain tasks in the past
3) people who did dangerous tasks for money in the past
4) why hamessing the power ol the wind was no casy lask in the past
27-  What is the main function of the second paragraph?
1) Explaining what a rotor is
2) Tllustrating the importance of electricity
3) Describing how the wind-¢lectric turbine works

4) Introducing innovative ways 10 convert the cnergy [rom the wind 1nte clectric power

28- The word *which™ in paragraph 2 refers to ----—--—-—-—-- ;
1) electricily 2) the eleciric grid

3) the wind-electric turhine 4) adding electricity to the electric grid
29- It can be understood from paragraph 3 that in order to power a small town -—-----—---

1) wind-electric turbines cannot be used

2) scveral businesses should invest in wind turbines

3) more than ong small wind turbine is required

4) the wind turbines vsed should be shorter than 7.6 meters

30- According te the passage, wind farms are more commaon --------—-—-- ;
1) in rocky mountains 2) among small busincsscs
3) near towns and cilies 4) in large open spaces
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